
www.egger.at

EGGER holzwERkstoffE – A SUCCESSFUL 
FAMILy COMPANy SINCE 1961

PLANT FACTS UntERRadlbERG



EGGER holzwerkstoffe Unterradlberg

  Company premises: Wood Based Materials : approximately     
   250,000 m² (2,691,000 square feet, corresponds to around  
   50 football fields) 
  3.2 km (2 miles) plant railway network; over 50 % of  

   transportation by rail → 18,300 waggons per year correspond  
   to 24,000 truckloads = 130 trucks per day 
  Several awards for environmentally compatible logistic  

  systems   
   → 2007: National Award “Environmentally Friendly  
         Transportation of Cargo” 
   → 2008: Mobility Prize, VCÖ Tyrol 
   → 2009: Mobility Prize as klima:aktiv project partner 
  Austrian National Award in Marketing for ZOOM®, the collection  

   for distributors 

  1970: Commissioning of the chipboard plant in URB 
  360 employees 
  15 apprentices in the fields of machine construction,  

   electrical production engineering with a focus on process  
   control, wood technology and clerks 
  Investments of approximately EUR 200 million in the last  

   10 years, thereof almost ¼ in bio-energy generation 
  Annual production of 40 million m³ (1,413 million cubic feet)  

   melamine faced chipboards; laid end-to-end, they would  
   reach halfway around the world 
  Export quota over 85 %  
  Exports mainly to North-Eastern and Southern Europe as  

   well as the Far East to Japan and China

PLANT FACTS     unterradlberg

EGGER GROUP 

  1961: Commissioning of the first chipboard plant in  
   St. Johann (AT) 
  International family company with 17 plants in 7 countries  

   (Austria, Germany, France, Great Britain, Russia, Romania,  
   Turkey) 
  Sales offices in all key industrialised nations around the world 
  6.500 employees 
  Pronounced focus on employees 
  Turnover in the 10/11 business year: EUR 1.8 billion  
  Wood Based Materials including timber: 7 million m³  

   (appr. 247,205,000 cubic feet) per year

EGGER production sites 

EGGER sales offices

	 1	 St. Johann in Tirol  AT
	 2	 Wörgl  AT
	 3	 Unterradlberg  AT
	 4	 Brilon  DE
	 5	 Bevern  DE
	 6	Gif horn  DE
	 7	 Bünde  DE
	8	 Marienmünster  DE
	 9	 Wismar  DE
	10 	He xham  UK
	11	 Barony  UK
	12	 Rambervillers  FR
	13	 Rion des Landes  FR
	14	 Shuya  RU
	15	 gagarin  RU
	16	 RĂdĂuŢi  RO
	17	 gebze  TR
 
 



Ecology – biomass energy at the EGGER plant in Unterradlberg

Environment & sustainability  
at EGGER means 

  2 biomass boilers to generate heat and electricity 
  Total nominal output: 80 MW 
  CO₂ reduction of 200,000 tons per year = 90 % of CO₂ from  

   fossil fuels 
  Covers largely the needs of the chipboard plant (chip  

   drying etc.) + the neighbouring EGGER private brewery 
  Corresponds to the annual consumption of approximately  

   25,000 private households or nearly all households in  
   St. Pölten 
 

  The use of wood from sustainable forestry (PEFC, FSC) 
  3.6 million tons of CO₂ are bound in EGGER materials  

   every year 
  Environmental product declarations 
  Environmentally friendly logistic systems 

 

 
  Electrical energy fed into the public electricity network 
  Total biomass wood requirements 

   for chipboard production + biomass power plant: 
   approximately 500,000 tons = over 1,000,000 solid cubic  
   meters (35,315,000 solid cubic feet) = over 3,000,000  
   stacked cubic meters (105,944,000 stacked cubic feet) 
  Certificate for environmental management systems  

   ISO 14.000 and EMAS since december 2009

EPDs according to  
DIN ISO 14025 (Type III  
environmental declarations) 

→ →

  

 

 

 

 

 

 

Deklarationsnummer 

EPD-EHW-2008411-D 

 

 

Institut Bauen und Umwelt e.V. 

www.bau-umwelt.com

 
EGGER 

EUROLIGHT
®
 

Rohe und beschichtete 
Leichtbauplatten 

Umwelt-Produktdeklaration 
n a c h  I S O  1 4 0 2 5  

  

 

 

 

 

 

 

 

 

 

 

Deklarationsnummer 

EPD-EHW-2008611-D 

 

 

Institut Bauen und Umwelt e.V. 

www.bau-umwelt.com

 
EGGER 

DHF / DFF 

Holzfaserplatten 

Umwelt-Produktdeklaration 
n a c h  I S O  1 4 0 2 5  

OSB-Platten EUROSTRAND
®
 

Auswertegröße Einheit pro m  
 (Produktion + 

End of Life) 
Produktion 

End of 
Life 

Primärenergie, nicht erneuerbar [MJ] 
-7.651 4.109 -11.760 

Primärenergie, erneuerbar [MJ] 
12.564 12.701 -137,6 

Treibhauspotenzial (GWP 100 Jahre)  [kg CO2-Äqv.] 
-537,9 -864,1 326,2 

Ozonabbaupotenzial (ODP) [kg R11-Äqv.] 
-7,59E-06 2,13E-05 -2,89E-05 

Versauerungspotenzial(AP) [kg SO2-Äqv.] 
1,10E+00 9,82E-01 1,23E-01 

Eutrophierungspotenzial (EP) [kg Phosphat-Äqv.] 
1,80E-01 1,62E-01 1,83E-02 

Photochem. Oxidantienbildungs- 

potenzial (POCP) 
[kg Ethen-Äqv.] 

9,59E-02 1,32E-01 -3,62E-02 

 

 

Auswertegröße Einheit pro m_ Summe Produktion End of Life

Primärenergie, nicht erneuerbar [MJ] -7.047 5.297 -12.345

Primärenergie, erneuerbar [MJ] 12.777 13.000 -223,2

Treibhauspotenzial (GWP 100 Jahre) [kg CO 2-Äqv.] -354,0 -745,6 391,6

Ozonabbaupotenzial (ODP) [kg R11-Äqv.] -1,56E-05 1,95E-05 -3,51E-05

Versauerungspotenzial(AP) [kg SO 2-Äqv.] 1,02E+00 1,23E+00 -2,13E-01

Eutrophierungspotenzial (EP) [kg Phosphat-Äqv.] 3,03E-01 2,32E-01 7,13E-02

Photochem. Oxidantienbildungspotenzial 
(POCP) [kg Ethen-Äqv.] 3,56E-02 1,05E-01 -6,94E-02

Auswertegröße Einheit pro m_ Summe Produktion End of Life

Primärenergie, nicht erneuerbar [MJ] -111 110 -221

Primärenergie, erneuerbar [MJ] 226 230 -4,0

Treibhauspotenzial (GWP 100 Jahre) [kg CO 2-Äqv.] -5,4 -12,4 7,0

Ozonabbaupotenzial (ODP) [kg R11-Äqv.] -2,41E-07 3,90E-07 -6,31E-07

Versauerungspotenzial(AP) [kg SO 2-Äqv.] 2,09E-02 2,41E-02 -3,18E-03

Eutrophierungspotenzial (EP) [kg Phosphat-Äqv.] 6,01E-03 4,59E-03 1,42E-03

Photochem. Oxidantienbildungspotenzial 
(POCP) [kg Ethen-Äqv.] 1,02E-03 2,25E-03 -1,23E-03

EUROSPAN-Platten roh

EURODEKOR-Platten

 
 

Further information at  

www.nachhaltigesbauen.de

Central Database  
(Ökobau.dat)

for specifiers 
and architects

Building  
certification

From the tree to the product – a closed cycle



EN
_U

nt
er

ra
dl

be
rg

_0
8/

11
Su

bj
ec

t t
o 

te
ch

ni
ca

l m
od

ifi 
ca

tio
ns

 a
nd

 a
m

en
dm

en
ts

.

www.egger.com

FRITZ EGGER GmbH & Co. OG
holzwerkstoff e
Weiberndorf 20
6380 St. Johann in Tirol
Österreich
T +43 50 600-0
F +43 50 600-10111
info-sjo@egger.com

FRITZ EGGER GmbH & Co. OG
holzwerkstoff e
Tiroler Straße 16
3105 Unterradlberg
Austria
T +43 50 600-0
F +43 50 600-12100
info-urb@egger.com

Production sites

EGGER Panneaux & Décors
Usine de Rion des Landes
Avenue d’Albret – BP 1
40371 Rion des Landes Cedex 01
France
T +33 (0)5 58 56 81 81
F +33 (0)5 58 56 81 39
info.fr@egger.com

EGGER Holzwerkstoff e Wismar
GmbH & Co. KG
Am haff eld 1
23970 Wismar
germany
T +49 3841 301-0
F +49 3841 301-20222
info-wis@egger.com

EGGER Kunststoff e
GmbH & Co. KG
Im Weilandmoor 2
38518 gifhorn
germany
T +49 5371 865-0
F +49 5371 865-64209
info-gif@egger.com

EGGER Beschichtungswerk 
Marienmünster GmbH & Co. KG
gewerbegebiet 4
37696 Marienmünster-Vörden
germany
T +49 5276 9894-0
F +49 5276 9894-660
info-mar@egger.com

EGGER Holzwerkstoff e Brilon 
GmbH & C0. KG
Im Kissen 19
59929 Brilon
germany
T +49 2961 770-0
F +49 2961 770-62222
info-bri@egger.com

EGGER Bevern
GmbH & Co. KG
Flüttenweg 10
37639 Bevern
germany
T +49 5276 9894-250
F +49 5276 9894-65600
info-bev@egger.com

FRITZ EGGER GmbH & Co. OG
Holzwerkstoff e
Tiroler Straße 16
3105 Unterradlberg
Austria
T +43 50 600-0
F +43 50 600-12100
info-urb@egger.com

SC EGGER România SRL
Str. Austriei 2
PO Box 38
725400 Rădăuţi, jud. Suceava
Romania
T +40 372 438000
F +40 372 468000
info-ro@egger.com

OOO „EGGER Drevprodukt“
Jushnoje Chaussee 1
155908 Shuya
Russia
T +7 49351 39000
F +7 49351 39111
info-ru@egger.com

OOO Gagarinskiy Fanerniy Zavod
Ezhvinsky proezd 1
215010 gagarin, Oblast Smolensk
Russia
T +7 48135 79300
F +7 48135 79311
info-gag@egger.com

EGGER Panneaux & Décors
Usine de Rambervillers
ZI Blanchifontaine
88700 Rambervillers
France
T +33 (0)3 29 68 01 01
F +33 (0)3 29 68 01 02
info.fr@egger.com

EGGER (Barony) Limited
Barony Road
Auchinleck, Ayrshire
KA 18 2LL
United Kingdom
T +44 1290 426026
F +44 1290 424420
info.uk@egger.com

EGGER (UK) Limited 
Anick grange Road
hexham, Northumberland
NE46 4JS
United Kingdom
T +44 1434 602191
F +44 1434 605103
info.uk@egger.com

EGGER Elemente
GmbH & Co. KG
daimlerstraße 34-40
32257 Bünde
germany
T +49 5223 6866-2710
F +49 5223 6866-67149
info-bue@egger.com

FRITZ EGGER GmbH & Co. OG
Holzwerkstoff e
Fabriksweg 11a
6300 Wörgl
Austria
T +43 50 600-0
F +43 50 600-13039
info-woe@egger.com

Roma Plastik A.S.   
gEPOSB
41400 gebze, Kocaeli
Turkey
T +90 262 751 30 50
F +90 262 751 30 51             
info@romaplastik.com                                             


